=
= o Ak

J o - X o € +1. cre  consecul-we Nio's

FE () el = €f ,

e e Bmeuy =&l
Ldar*+2x —£O =0

" - x* - Rpmer -
— ) o (¢ - S)Xx+6) =0
| . - =5  ar=-8

?J R IR I

_f@ ,,,,, X ., o6 +2 are clen conseculive NO's

. (erpompie 52 =

2t + Fresors H 2SS
Ax"+4zx —4& =0O

- - X + 2x —24 =0 B
" s (e TG KB E)E O

A e 7 oc =4 2 =44

— =

T A% ae 4+4 or -4, -4

—




2
—/73 /*x @% ‘/ -
L 25c +,Zq -—52 — 9c+‘¥-3/

oy = /98 | ,,,__;;
1 . - - o¢ = 3l "{3/ [/50&—/1)

= [31—3514 - 198 Cmé m)

. 3/1— B 178 4 2 o= 0
Eiﬁ T 3/,1193 e D

s -2 Begeennn_ w5 S SRS Y .
4 RN I |




7 x"+(x+,)"= (9(‘-}1\"
J(% i ,341‘+x"+a?:r+/ - )?{+—4x+4,
(X —3IXx+ 1) = &
X = 2 g |

4/#\3(0'70/' &ﬁ

T 3 splen ase 34 45
=2 el ~ Sr4 v - R s

S = RESET e

IS = I3k —F£* N )
Er—i2f 2 =) 2 dec placso :szégé‘_

mi=i2. c=d%

_— N E i




x—/5 = 2x

x"——g._x = SaN =), RS SR |

Lo a3~ &) =0 L
Oc=-73 Talcosyme IR

e ARt )
a2

_ JBET - g4t re w0l .
(46 — \XHE — 5D =0
HE = ] ks o

e PR .
\ ) B 2 ""é‘*‘u] = 20°
e /.Z+¢,

l__ , X xS L <oy
i, S ap M
N T4 — 192 =0
(¢ — 12(c +/8) = ©
1 2= JD x =-/4
o R[ﬂ/tﬂﬂ%

Hrs | x = |2 se ey




:, ' f»?ci,, W+ 2  bce .2 7 W aaé/ﬂ”i’r
H__ L (x)[3(+1) 4{3( +.?(+z)-[ = V

1 - - 2-1—2:1;42,_,_41, .,_9__/ ;7777 =
RO . Y .

;& i L
| A lo —~ FNoe j IO
_— X = F x = — ]

Zr7 or =) |

O fenzy = Gres )t

oM x b5t T = 123

Ra" o+ T =20 123043¢

=8 —2F=O

(x + 33X —FD =0
7( rm = ? ,




2 | / (e o

ety 4 =B O

XY+ G —EO0= O

(.;Z g 5rx +‘/0)=&

o = A O =~

———

HoeH = & 6//(‘ = /O

5 1-‘-// Db 2

7

Bl e 2+ et + X42) = (964 Y nenn)

Dt +9 = ¥ 4 2542

Xt —Box —F =0

(o — PCx + |) =0

e L o =— |

¥ & = ]




-

R . " Tt
= ( K/ f727§ ) frevcbetr = Zge Gir —Srells
r= 14 e 6Omr = ({lnx)Lﬂ' - 4
o = (14+20" — 14" 3
LO = 196 +2%x +x~— /7L
o+ A% —40 =O
- (¥ +3Noc —2)=0
t_f,* ,2/9 =30 = =2
@A 0% N
= . Joc

e ax e S

H=x"+54

2x(x-2) = x4+ 96

‘Q_y’"-!é/?f = x4+ ;g

o SR 4 —94 = ©
i (X —i123loct+58) = O

LiwE2 i = il P A

Kec ! ’%/,7%:}1 = R4 DK -x-2= [0




8 IS hH =0l x = >+ 25
il

a,[' 6:-'6=/‘5’ => oS = Oslsc =~ 22 3.2 5 A’Q)
/15 = "= JOve w25
O =2 —10>5 + /O

——r—>
ﬁl//'mv/ bns = [loe ‘;iéfl\-ul,/d

a = |/ s =/O c = /0

5 = 10%EJ700-%40
e ® . £l R
=~ lotJegog —7

h=3 =D 3 = Dria® -2+ 25 /)r/b)
20 = o — )O>¢ +25
o e [ O>¢ —S7
z2=) b= -1 ¢ =-5

\

G0 -48)
e




o G RE -5 =4
il 274 S=473

S =(3¢-4)
RQET+ (36-4)"= 43

25 e G AL bt dE =53
HET—24E —RF =0

a = /i b ==Y ¢ = -R¥

B L = ALEJE5FEFriiEv
27
(5
= 24T JI1784 /j@
2z e,

E=3 D 5=3ty

/%%j?fe Datin ppt- ,mssféé B0 Ze Fapnite
é“ﬂ%_




v/
25 ~an J_%,:L%:_: 40 4

ISy -0y —/S =0
1}1/1' = Q\/ "'/ =O e
J

J -
y = ‘*,?,_: ,/-/ = 40)=))
)

L S

0
1+
3
\
bt
N




172/2/. 204 3y = f

DCL-J-éL(IJ'L’ 40

32"’(/7"331)

[/r—3q) 1'+ by™* =40
¢ 55 J

b= by £ Py” v 8y™ = 40

/5'7* —G#y vl 40 = O

For c?lgns ;7.4% 72 _,1'ai¢lf&é' => 4 “4ac <O

(—MY“— 4. (15) (h™=40) <0

—ZA/r +2400 < 0 (¥-0

A4 kkE-— 2400 >

bk > 2400

How 100

e = i

i -6 — e pes A4S




